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Read the following passage and answer the questions from 1 to 5:

Immanuel Kant wrote a treatise called “What is Enlightenment ?” in 1784.
He explained that ‘Enlightenment is man’s release from his self-incurred
tutelage. Tutelage is man’s inability to make use of his understémding without
direction from another. Self-incurred is this tutelage when its cause lies not in the
lack of reason but in the lack of courage to use it without direction from another.
Laziness and bdwardice are the reasons why so great a portion of mankind
remains under lifelong tutelage, and why it is so easy for others to set themselves
up as their guardians. It is so easy not to be of age. That the step to competence is
held to be very dangerous by the far greater portion of mankind is seen to by
those guardians who have so kindly assumed superintendence over them. After
the guardians have transformed their domestic cattle into dumb followers, and
have made sure that these placid creatures will not dare take a single step
without the harness of the cart to which they are tethered, the guardians then
show them the danger which threatens if they try to go alone. Actually, however,
this danger is not so great, for by falling a few times they would finally learn to
walk alone. But an example of this failure makes them timid and ordinarily
frightens them away from all further trials. “Have courage to use your own

reason !” — that is the motto of enlightenment.’

Enlightenment thought culminated historically in the political upheaval of
the French Revolution. The traditional hierarchical political and social order —

the French monarchy, the privileges of the French nobility, the political power

. and authority of the Catholic Church — were violently destroyed and replaced by

a political and social order informed by the Enlightenment ideals of freedom and
equality for all, founded, upon principles of human reason. It gave rise to a basic
model of government founded upon the consent of the governed. This also taught
the society to expect that certain basic individual human rights and religious

diversity need to be respected and realized by any legitimate political system.
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Why is man’s tutelage self-incurred ?

(1) Laziness .

(2) Lack of courage to use the understanding without being directed by others

(3)‘ It is dangerous

(4) There are no guardians
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Why does the majority of mankind remain under lifelong tutelage 7
(1) The guardians are powerful
(2) It is dangerous to walk alone
(3) Laziness and cowardice

(4) The monarchy, nobility and Church have great powers

3. WMWW%WWWW?

(1) wefoes == (2) watad @A

(3) W foasagl (4) wHa

Which of the following did not form the ideological basis of the new French Order ?
(1) Catholic Church (2) Freedom for all

(3) Human reason (4) Equality
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Enlightenment resulted in the model of government that was founded on

(1) Acceptance of the people who were to be governed

(2) Liberty, Equality and Fraternity

(3) Human Rights

(4) Religious Diversity
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What did the society learn to expect as a result of the Enlightenment ?

(1) Any legitimate political system should respect basic human rights and religious
diversity. '

(2)  People should give consent to their rulers.
(3) Humans should have the courage to think independently.

(4) Freedom, equality and human reason should form the basis of a State.
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Read the following passage and answer the questions from 6 to 10:

Let us further consider the formation of concepts. Every word instantly

becomes a concept precisely insofar as it is not supposed to serve as a reminder of

the unique and entirely individual original experience to which it owes its origin;
but rather, a word becomes a concept insofar as it simultaneously has to fit
countless more or less similar cases — which méans, purely and simply, cases
which are never equal and thus altogether unequal. Every concept arises from the
equation of unequal things. Just as it is certain that one leaf is never totally the
same as another, so it is certain that the concept ‘leaf is formed by arbitrarily
discarding these individual differences and by forgetting the distinguishing
aspecté. This awakens the idea that, in addition to the leaves, there exists in
nature theé ‘leaf : the original model according to which all the leaves were
perhaps woven, sketched, measured, coloured, curled, and painted — but by
incompetent hands, so that no specimeh has turned out to be a correct,
trustworthy, and faithful likeness of the original model. We call a person ‘honest’,
and then we ask ‘wWhy has he behaved so honestly today ? Our usual answer is,
‘on account of his honesty’. Honesty ! This in turn means that the leaf is the cause
of the leaves. We know nothing whatsoever about an essential quality called
‘honesty’; but we do know of countless individualized and consequently unequal
actions which we equate by omitting the aspects in which they are unequal and
which we now designate as ‘honest’ actions. Finally, we formulate from them a
qualitas occulta which has the name ‘honesty’. We obtain the concept, as we do
the form, by overlooking what is individual and actuél; whereas nature is
acquainted with no forms and no concepts, and likewise with no species, but only
with an X which remains inaccessible and undefinable for us. For even our
contrast between individual and species is something anthropomorphic and does

not originate in the essence of things; although we should not presume to claim

that this contrast does not correspond to the essence of things : that would, of

course, be a dogmatic assertion and, as such, would be just as indemonstrable as

its opposite.
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When does a word become a concept ? ‘ '

a. When it is not supposed to sérve as ;1 reminder of the unique

b.  On account of its ‘honesty’

¢.  When it fits the cases which are never equal

d. By overlooking the universals

(1) Onlya (2) Onlyaandb

(3) Onlyc (4)‘ All of the above
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How is the concept of leaf formed ?

a. Arbitrarily discarding the individual differencés

b.  Forgetting the distinguishing aspects

¢. Bynature _

d. By imitating the original model

(1) Onlya (2} Onlyaandb

(3) Onlya,b andec : (4) All of the above
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What does the nature know, if not the concepts ?
a. The individual and actual
b.  Essence of things
c. Equation of unequal things
d. Itisinaccessible and undefinable
(1) Onlya (2) Onlya,bande
3) Onlyd - (4) Onlybandd
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What actions does a leaf perform if it wants to get equated with the concept of leaf ?
To become one with individual differences
To discard the distinguishing aspects

c. To forget the distinguishing aspects

d. The equation of unequal things

(1) Onlyaandb ' : (2) Onlycandd
(3) Onlya,bandd | (4) Only b, cland d
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Which experience should count as a parameter of formulating a concept ?

a. The original experience
b. The instant experience
¢. The equating principle

d. None of the above

(1) Onlya bandc

(2) Onlyd

(3) Onlyc

(4) Onlyaandb
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Read the following passage and answer the questions from 11 to 15:

Bottled Water and Its Environmental .Cost

The next time you buy a bottle of drinking water, you need to pause and
think. You may not bat an eyelid shelling out ¥ 15 for a litre of bottled water but
what you don’t realise is that you are actually paying over 4,200 times of what
you normally pay for a litre of tap water.

* “Phe economics of drinking water has always baffled me. What is perplexing is

- that the average urban middle class squirms and protests if the Delhi Jal Board,
for instance, tries to ‘nominally’ raise the price of tap water. Paying a little over
one paise for three litres of tap water (DJB prices tap water at ¥ 3-50 per
1000 litres) they feel they are already being made to pay through the nose.

Price being of little constraint for the consumers, the global bottled water
industry is galloping. In 2004, the world consumed 154 billion litres, of which
India’s share was 5-1 billion litres. Expected to grow at 40 percent annually, the
T 1,800-crore bottle water industry is experiencing unprecedented boom with over
1200 water factories doing business throughout the country.

If you think bottled water assures you of purity and safety, it is time you
think again. Even in the U.S., despite strict quality norms formulated by the Food
and Drug Administration, it is safely assumed that nearly 40 percent of the
bottled water is repacked pipe water.

Shockingly, what is little known is that more than five litres of water is
required to produce every litre of packed water. In other words, 770 billion litres
of water were used to produce and pack the 154 billion litres of water that the
world consumed in 2004. What a colossal waste !

Bottled water also has additional, hidden environmental costs. According to

the Pacific Institute in California, the entire process of making plastic for the
~ bottles requires huge energy. In America alone, where nearly 26 billion litres of
bottled water was consumed in 2004, an equivalent of 20 million barrels of oil was
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required every year to manufacture a.nd,transbort the bottles. The accumulation
of plastic bottles in the landfills also adds to global warming besides

contaminating the groundwater.

But are people beginning to see the damage being done by the bottled water
industry ? Yes, a number of restaurants in the U.S. have begun to serve only
filtered water to customers instead of bottled water. City authorities are also
waking up. Recently, San Francisco Mayor, Gavih Newsom has issued an order to
ban city departments, agencies and contractors from uéing city funds to serve
water in plastic bottles and in larger dispensers when tap water is available. His
argument is that for the price of one litre of bottled water local residents can
purchase 1000 litres of safe drinking water from the taps.

11.  Swedlleg gt wiawf fEra w e ?
3, 20 e deTeAT fawET 9T
q. - JAmfaes 99 918
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What is the environmental cost of bottled water ?
a. 20 million barrels of oil

b. Global warming

¢. Contamination of groundwater
d. Deforestation

(1) Onlyaandb

(2) Onlybandc

(3) ‘Onlya,bandc

{(4) Onlycandd
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Which of the following steps are taken in the U.S. to reduce the damage caused by

bottled water ?

a. Serve only filter water in restaurants

b. Ban city departments, agencies and contractors from using city funds to serve
water in plastic bottles

¢. To ban water from bottles in large scale where tap water is available

(1) Onlyaandb (2) Onlyc

(83) Onlyaandc (4) .All of the above
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Which of the following statements is not correct about bottled water industry ?

a
b.
c.
d.

(1
(3)

Global water industry is galloping.
There are 1200 bottled water factories in India.
In USA 50% of the bottled water is repacked by pipe water.

Accumulation of plastic water bottles in landfills adds to contamination of
groundwater. '

Onlyaand b . (2) Onlycandd
Only ¢ (4) Onlyd
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How much water is required to produce every 1 litre of bottled water ?

(1) 2litres

(2) 4litres

(3) 5 litres

(4) 100 litres

15, UIF TN ENT ecfag qoae I SeEETel T @t Srede wodmret fed i
Aol TR I ?

(1) 10 ¥Isd
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(3) 5 gEy

(4) 2<cwd

In U.S., how many barrels of oil is required every year to manufacture and transport
the bottled water ?

(1) 10 million
(2) 20 million
(8) 5 million

(4) 2 million
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Read the following passage and answer the questions from 16 to 20 :

Poverty springs from a number of sources, the more important of which are
controllable. So does special privilege. I think it is entirely feasible to abolish both
poverty and special privilege and there can be no questions but that their
abolition is desirable, Botﬁ are unnatural, but it is work, not law, to which we

must look for results.

By poverty 1 mean the lack of reasonably sufficient food, housing, and
clothing for an individual or a family. There will have to be differences in the
grades of sustenance. Men are not equal in mentality or in physique. Any plan
which starts with the assumption that men are or ought to be equal is unnatural
and therefore unworkable. There can be no feasible or desirable process of
levéling down. Such a course only promotes poverty by making it universal
instead of exceptional. Forcing the efficient producer to become inefficient does
not make the inefficient producer more efficient. Poverty can be done away with

only by plenty, and we have now gone far enough along in the science of

production to be able to see, as a natural development, the day when production

and distribution will be so scientific that all may have according to ability and

industry.

The extreme Socialists went wide of the mark in their reasoning that
industry would inevitably crush the worker. Modern industry is gradually lifting
the worker and the world. We only need to know more about planning and
methods. The best results can and will be brought about by individual initiative
and ingenuity — by intelligent individual leadership. The government, because it
is essentially negative, cannot give positive aid to any really constructive
programme. It can give negative aid — by removing obstructions to progress and

by ceasing to be a burden upon the community.

The underlying causes of poverty, as I can see them, are essentially due to
the bad adjustment between production and distribution, in both industry and

agriculture — between the source of power and its application.
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16, wWeigsdfmdtzah__ I«
O @ safis
(3) wRAvaT= ot (4) e &
Povefty and privilege both are
(1) Natural - (2) Unnatural
(3) God-gifted B (4) Al of the above

17, TR A1 AT, YAl o) SRR 2T 2
(1) = o
(2) * A= HYE
(3 = (fram) ana
(4 @, 39 9 farn avE
Poverty is defined as
(1) Lackofland
(2) Lack of food
{3) Lack of housing
(4) Lack of food, housing and clothing

18.  ortwfits  siera o Jomen PR R R S R 2
(1) et smrie Gems g
(2) W GHW A G A
(3) Tl & R O
(4) I WA AT
What is assumed in an unnatural and unworkable plan ?
(1) Nature provides unlimited resources
(2) Men are or ought to be equal
(3) Urbanisation is the base for development

(4) Equal distribution of income
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(1) 3N & e T g o
(2) wieaeER & FrN R o
(3) Jum & wERTE! fieauE s
(4) PR g formrars o smed

Socialists are of the opinion that

(1) Industrialiéation is against common man
(2) Capitalists are against the workers

(3) Industry would crush the workers

(4) Workers are the backbone of development

20. UiseER vl qEied Hivd fFuR g#Ee aR ?
A, OEHR YEQ: THCHS .
4. WEHR YHRHS Hed % T,
F. R THREHF UGH 3 I
(1) wFd 49
(2) had 33 ATIOT *
(8) wH I, q NN F
4 WA
Based on the passage, which of the following'statements is not correct ?
Government is essentially negative.
b. Government can give the positive aid.
¢.  Government can give the negative aid.
(1) Onlyb |
(2) Onlyaandc
(3) Onlya,bande
(4) Onlya
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figtesiais Aoy ol AR Sifee a1 Tgdtan aTq &9 Fordd q
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Tt T YA AT,
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Wl AT, TRIREAT THOT =T 97 Fiedl.
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22

Read the following passage and answer the questions from 21 to 25 :

Sound waves are formed due to vibrations of particles and propagate in a
material medium in the form of longitudinal waves. The sound waves of frequency
less than 20 Hz are called infrasonic waves. The human ear can hear the sound
waves between frequency range 20 Hz to 20000 kHz. This is the audible range.
The sound waves of frequency greater than the audible range are audible to
certain animals such as cats, dogs, bats, etc. These are the ultrasonic waves,
While flying, a bat produces ultrasonic waves. These waves strike obstacles in
their path and are reflected. The bat can use echoes to detect the obstacles and
hence avoid collisions with them. Thus a bat can find its way even is the dark.

Ultrasonic waves are produced by piezoelectric oscillators and
magnetostriction oscillator method and detected by Kundt's tube, Quartz crystal
and Thermal detector methods.

The waves having more frequency, possess more energy. Hence ultrasonic
waves possess high energy. Like sound waves, ultrasonic waves also get reflected,
refracted and absorbed. Their velocity increases with frequency.

Ultrasonic waves are used in many industrial, scientific and medical sciences.
Sound navigation and ranging (SONAR) is the instrument which can produce,
transmit and receive ultrasonic waves. This technique is used to determine the
distanice and location of underwater objects such as submarines, icebergs, etc.
using ultrasonic waves. It can be used to determine the depth of the sea. For this
a transmitter and a detector are installed in a ship. Ultraéonic waves are also
used for ship to ship communication, welding plastic surfaces, to kill bacteria in
liquids like milk to preserve them, in echocardiography, for imaging internal
organs of the human body, in industry to clean parts of machines, to detect cracks
and flaws in metal blocks. '

21.

FeATdIG a0 7 WEID G,

(1) AFas (2) SgaT

(3) @EgwdE ‘ 4) for
Ultrasonic waves are in nature. .

(1) Transverse - (2) Longitudinal
(3) Electromagnetic (4) Stationary
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22, AT T @ 9 MRd H o
(1) WA U b T | (2) WHd g Yehal
(3) I ATCERCT FH MR (4) Sl wd T
Ultrasonic waves are those waves which
(1) human beings cannot hear (2) human beings can hear
(3) have less frequency (4) None of the above
23.  BEATA IR TATH TR IRA AR
(1) 3r&acn (2) EFH qTT
(3) H=wa T (4) AT
The echocardiography technique is based on o
(1) Transverse waves (2) Infrasonic waves
3 Ultragonic waves (4) Longitudinal waves
24,  TZTE! WiEll HEUAEE A1 TAET 9L HEN ¢
(1) e feew (2) g
(3) iRmre | (4) ¥MR (SONAR)
To determine the depth of sea this technique is used :
(1) Thermal debecfor - ' (2) Kundt’s tube
3) Oscillator | (4) SONAR
25. dHARAI AT TN GUTHRSAT Sl SET] 7 ThoamEmdt I gt

(1) 20 Hz 91 S+

(2) 20 Hz3d 20 kHz 3mdia

(3) 20 kHz Y& S

(4) it uhdt AT

The waves of frequency are used to kill the bacteria in liquids like milk.
(1) less than 20 Hz ‘ '

(2) between 20 Hz to 20 kHz

(3) greater than 20 kHz

(4) None of the above
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Read the following passage and answer the questions from 26 to 30 :

The subject Plant Breeding, although developed in recent times on modern
scientific lines after Mendel’s discoveries, was known in early times to Egyptians
and Assyrians. Later during 18% and 19" centuries several artificial crossings
were made by many workers and interesting results obtained in the form of new
varieties. But it was Mendel who first laid down the foundations of plant breeding
on scientific basis and formulated the laws of inheritance of characters.

Hybridisation between two varieties of a species brihgs about a combination
of desirable characteristics. A plant breeder specializes in crossing plants with
the desirable character. Thomas Fairchild (1717) was the first pérson to obtain a
successful hybrid by crossing Sweet William and Carnation. The knowledge of
Mendél’s laws has made the job of a plant breeder scientific, reliable and
predictable. In bisexual plants the anthers of stamens of the female parents have
to be removed (emasculation) in order to prevent self-pollination. Emasculation is
not required in unisexual flowers and in the self-sterile bisexual female parents.
Male sterility has been reported in Maize, Wheat, Sorghum, Ba:lejr, Cucumbers,
Tomatos, Onion and Sunflowers. '

Sterile males are of great help in raising hybrids of desirable characters.
Stigmas of the carpels are enclosed within polyethylene bags since the early stage
to prevent pollination by the pollen grains of unwanted plants. The bags are put
back in place after dusting the stigmas with the pollen grains of desirable plants.
This process is called bagging.

Hybrids : The hybrids are usually interspecific i.e. intervarietal. Interspecific
and intergeneric hybrids are not possible. A rare example of interspecific hybrids
is the Mule in animals and the Triticale is an intergenetic hybrids between Wheat
(Triticum) and Rye (Secale). Such hybrids are bound to be sterile due to lack of
homologous chromosomes. Generally, a hybrid may be heterozygous for only one

gene or for a number of genes.

The breeding of hybrid corn is a very significant example of hybridization. It
is obtained by crossing two inbreed or homozygous lines of maize. The inbreed
lines are true breeding and highly uniform.

FOEYT SHTATST ST / SPACE FOR ROUGH WORK P.T.O.




Xo08 26

Hybrid vigour or Heterosis : The hybrids often exhibit hybrid vigouf which is
defined as the increased vigour (superiority) of the hybrid over either parent in
one or more traits ‘e.g. in growth, yield, disease resistance, etc. Maize plants
exhibit a very hlgh degree of hybrid vigour (25% higher yield). Other plants
showing hybrid vigour are Sorghum, Rice, Bajra, Sugarbeet, Petunia, Cabbage,
Cucumber, etc. The plants which are self-pollinating types lose heterosis by
inbreeding and therefore, pure parental lines are crossed every year to obtain
seeds with high degree of heterosis.

On the other hand, hybrid vigour is not Yost and persists if the desirable
hybrid once obtained is subjected to vegetative propagation e.g. Mango, Apple,
Guava, Dahlia, Chrysanthemum, Rose, etc.

26, fmnHm o
(1) 3IRd SeqiEd @&
(2) Scaftad Ton '

(3) I fbw st arfefim Afvream= fasm

(4) A YEFRGT qHR SSad

Heterosis is

(1) Appearance of spontaneous mutations
(2) Induction of mutations

(3) Mixture of two or more traits

(4) Superiority of hybrids over their parents

27. @efadh -q'?rmm HRTEr! fiersgran am e ?
(1) =3 WS JSvas)
(2) TraFHE WETET TTevaETEt
(3) swa wiien e S
(4) RS W TS
Bagging is done to
(1) Avoid self-pollination
(2) Avoid cross pollination
(3) Achieve desired pollination

(4) Prevent contamination from foreign pollen
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WG a3 TUEET=AT e 107 yaaris sasien e

HFq AREET AR O S

Pure line breed refers to

(D
(2)
3
4)

Heterozygosity and linkage
Only heterozygosity
Homozygosity and sel® jssortment

Only homozygosity

X08

29.

T T 0 TG HEET FOrd] SR I ?

(1)
(2
(3)
(4)

e anfn swEim
IaafEda o fas
Fag oy weor
9 o Feafads

The new varieties of plants are produced by

(1)
(2)
(3)
(4)

Selection and Introduction
Mutation and Selection
Selection and Hybridization

Introduction and Mutation

30.

e fimgams sl TaewTe W

(D
(2)
(3)
(4)

Heterosis lost due to continuous inbreeding in known as

(1
(2)
3)
(4)

il Siw

AR SR Cae

IIEAT AT I S serewd 3erfiear
AU HioraE A |

Hybrid vigour
Outbreeding pressure
Inbreeding depression

None of the above
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Read the following passage and answer the questions from 31 to 35 :

During the interactions with a group of standard VI students, Dr. Sarvesh
demonstrated various experiments involving. physical changes viz.
Vapourisation/Evaporation (liquid to gas), Melting (solid to liquid), Sublimation
(solid to gas) and Chemical changes viz. Neutralization (reaction between acid

. and alkali), Precipitation (reaction between ammonium chloride/potaésium
chloride and silver nitrate). '

This group enjoyed the session and demanded little more information
regarding detection of cations and anions in the given solution, With this demand,
Dr. Sarvesh designed three experiments (one by observing the changes in the
colours of the test papers and another, just observing the change) to detect the
presence of ammonium radical in the given salts.

Dr. Sarvesh dissolved a small amount (approximately 0-100 g) of each, solid
ammonium chloride and solid potassium chloride separately in 2:0 cm of
de-ionised water, in two different test tubes labeled ‘1’ and ‘2’ respectively. Two
drops of each of the above solutions were separately taken in three different dry
test tubes forming two different sets; one set kept on the extreme left and another
on the extreme right. The three test tubes, in each of the two sets, were gently
heated on adding six drops of 2 N sodium hydroxide (alkali) to each and the
evolved- gases were carefully brought in contact, separately, with a moist red
litmus paper, a moist turmeric paper and a glass rod dipped in dilute hydrochloric
acid.

Above the test tubes on the left hand side, in the first case, the paper turned
blue (this was exactly opposite to acidic gases which turn moist blue litmus red),
in the second case the paper turned brown and in the last case dense white fumes
of ammonium chloride were observed. No such changes were observed in the
colours of both the papers nor dense white fumes above the test tube on the right.
Dr. Sarvesh explained that during the reactions between the reagents gaseous
ammonia is liberated which is alkaline in nature and inferred that the solution in
the left hand side test tubes contains ammonium radical while that in the right
hand side test tube does not. '

_ Dr. Sarvesh then asked students to perform the test. In the first experiment,
Ms. Riya, in addition to the earlier observations, found red litmus turning blue for
the test tube on the right while Mr. Ravi, did not get the desired colour change of

* the turmeric paper on the left hand side test tube. Dr. Sarvesh explained to the
students the proper way to perform the tests. Following the instructions from
Dr. Sarvesh, when the students correctly performed the tests, they got the desired
results.
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(1) omifEm FREe Tva b fateesd

(2) IR s TeT fooea, 989 & waud Wsﬁa AR

(3) W TS ? BFd TAaIa HE

(4) oI FES oA foRued, 9T Hewraste ATl

The following conclusion can be drawn from the above passage :

(1) Ammonium chloride is only soluble in water

(2) Ammonium chloride is soluble in water as well as could be sublimative

(3) Ammeonium chloride is only sublimative

(4) Ammonium chloride is soluble in water but not sublimative

32. amifram g SR Giee foee e
(1) e forens P 8, w2l #rg oa a9 anfi e grgaaie s gefaeen
- e SIS TR §hg aTE A%
(2) oa fremm P A0, gadn #rg qufed @ o faw TSI e
(3) far foenw o B0, gk wrE quisd @6 o fane EREEefe smed

(4) v frewe Pt A, Tl F bR @ s fi S wde geReien
FIE<AT FEHT ST qhg JTH A%

The correct observations due to the presence of ammonium ions are

(1) Turing red litmus blue, turning turmeric paper red and evolving dense white
fumes from a glass rod dipped in dilute hydrochlonc acid

(2) Turing red litmus blue, turning turmeric paper brown and evolving dense
white fumes from a glass rod dipped in dilute hydrechloric acid

(3) Turing blue litmus red, turning turmeric paper brown and evolving dénse
white fumes from a glass rod dipped in dilute hydrochloric acid

(4) Turing red litmus blue, turning turmeric paper brown and evolving dense
white fumes from a glass rod dipped in dilute potassium chloride
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33. %. faren onifira fliegm e ard, s A

(1)
(2)
(3)
(4

Ms.
(1)
(2)
(3)

(4)

e foenm e Iafiwgea WisTHeig 918t USdied <A1 HUid S
AT A forenma Fg I IhS=a1 TRAHSIG AP GScied Tg=a1 Hehid AT
ST A forenw wmiE I twea TheFSTe ZEvTe HUHa e
i@t Hioag! T
Riya did not get the desired observation, because she brought
a red litmus paper in contact with the evolved gases above the test tube on the
right. :
a moist red litmus paper in contact with the evolved gases above the test tube
on the right.
a moist red litmus paper in contact with the solution of the test tube on the
right.
None of the above

84. i wien aufya e fee T, WHT:I

(1)
(2)
(3)
, (4)
' Mr.
(1)

- (2)

(3)
(4}

Eﬁmwmwmﬁ@WWa@mﬁm
mwmeWWmmm
28 (1) anfr (2)

aliEd$l woEd) T

Ravi did not get the desired observation, because he brought
a turmeric paper in contact with the evolved gases above the test tube on the
left
a turmeric paper in contact with the evolved gases above the test tube on the
right .
both (1) and (2)

None of the above

85, T ke ITH a1 Hiedl, Hvl

A,
9,
5,

warfes AfifRge
Serefia arfufirngs
A TS Hoetaasiiet Ay o

Greieht UG GG TGS (FTR) 3med ?

(1)
(3)

wad A A & (2) wwRTAMH
e 3 T & (4) 9, 9 FH

Observations about white dense fumes are seen

a.
b.
c.

as a result of a chemical change
as a result of neutralization reaction
because ammonium chloride sublimes

Which of the following options are correct ?

(1)
(3)

Onlyaandb (2) Onlybandc
Onlyaandc (4) a,bandc
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" Read the following passage and answer the questions from 36 to 40 :

[}

Robert Frost once famously defined a liberal as someone who could not take
his own side in an argument. But contemporary constructions paint an opposite
picture: Liberals are seen as self-satisfied ideologues with no stomach for a
diversity of ideas. Exposing the political hypocrisy of liberals has become a
rhetorical gambit to delegitimise the idea of liberalism itself. Alas, it has to be
scf:lid that those who use this gambit have much ammunition to deploy. But there
are also other sources of concern. Nicholas Kristof in a widely ciiscussed New York

- Times column, argued that the hiring practices of American universities were
biased against conservatives. Liberal institutions, rather than becoming shelters
for diverse ideas and genuine contestation, were turning into monoliths of
political correctness. Liberals were supposed to be able to think out of their skins;
now they imprison themselves in boxes. Similar charges have been voiced in

India, most recently by Gurcharan Das,

These charges are often political gambits-. The charge that liberals exclude
and ostracise conservatives comes in many forms. There is oné version of this
charge that liberals do not have to be defensive about. A conservative
presumption in favour of an old order is quite often associated with hierarchy;
this usually has the odour of sexism, racism, homophobia, casteism, and hostility
to minorities. Sometimes liberals can promote a kind of faux sanitisation of the
intellectual environment in ways that close off debate. But the idea that
institutional spaces should not legitimise sexism, racism, casteism, and

xenophobia is one that every decent society ought to promote.

There are conservative articulations that can, subtly or unsubtly, target
specific groups. They make people uncomfortable in ways that have nothing to do
with intellectual argument. Liberals are entirely right to be suspicious of these
positions. To not be suspicious would be to abdicate a commitment to human

dignity itself.

FoEqT BTSSR / SPACE FOR ROUGH WORK P.T.O.



Xo8 34
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(1) sfTeragee sHard (2) JerHEETd
(3) YUOmEETE (4) @
From the paragraphs you can definitely conclude that Robert Frost is a/an
(1) Self-satisfied person (2) Liberal
_ (3) Conservative (4) Author
37. Iarame ' :
(1) IgraaTeaT=! gt et
(2) IeAGETCHIR A1 Heht e
(3) IERAAETE! JUUMAATEITIET |t FHATd I faur & e
(4) QUMAITE JETERINET R A 3 fHur S emea
The paragraph _
(1) praises liberals
(2) criticises liberals
(3) argues that liberals are better than conservatives
- {4) argues that conservatives are better than liberals
38. smfdie feediemed fasmren weftardion faredt s,
(1) TEoTHaETEETe

(2) QoA FATAl SERAGETEAT=T
(3) IR U7 AT ATHATE IGRHATEHT=
(4) GouT BT QUUHTETCHSAT

American universities have hiring practices opposed to

(1) Conservatives

(2) Liberals with on open mind
(3) Self-satisfied liberals having a closed mindset

(4) Open minded conservatives
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39. fromw Bl _ TR,
(1)  JOUHATETETER T HMN IS FHeEs
(2) wmm ’

(3) TEliEvT FHOM ITRATETE
(4)  SATEHIOE HOTR JUUHTATE]

Nicolas Kristof is a

(1) liberal columxﬁst criticising conservatives
(2) conservative columnist |

(3) . introspecting liberal

(4) introspecting conservative

40, T .
(1) F9Erg |
(2) wwfEnft | 7 smEs _
(3) SeRAETEEe T Az g ST TR fd
(4) YomaEEEeHa fada

The author of the paragraph is

(1) racist

(2) hoinophobic

(3) worried about the ;:leterioratiﬁg condition of liberals

(4) worried about conservatives
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QEe SARTATSA caTaT SATRE 41§ 46 Ty 39 o

- ool TgumTg St e ST A ATETeEl S HAHATE T A3
Trafyea %W TETew B A Y9W gt vad. e 9 sregwaren fasonendt =i e
weedl. fagen gl wEonEt Aederd onfor uiiie g e SeRE A M
AETATGSATEA IAEAT IS Aq B, G A AT ARGR Foetl q@iael; o1 Taqa: <A1
it ardt sFREE! FTEEE YEIAYEHT T ha. A ARRW $o dreAl 9 §SEn
i et sTeara Tt T, 3 faseee B9 SEER W, S 8, o
AT G 9SS AT, AT gt SIS wesadien e dFel. 8. 1895 wed
ATRH FHATH T, T 1901 AL TS Iieh TG Tordelt, Ha TS JSTeiel
F R g =] 39, “anmeden Sierean SAfaRiE T herward firy =t T
9 MUTSTd MEd T T 79 Fol. TITEAedT Qe i Jar gvamsia oy s
F qIied, & 48 el Al AeAEAg Ael.” THe, AR, Mee I ot 3en |
HAEUTER B, T A S e HEAT T ATSA FEUal ISAA W YS! T,
I QE WESAYGIE 79 B, WA TAS I HREYGAAIE HEdu] HERSeAT Nahdren
AHAUITEIET Fo5aT. TUY QEud] YeTatd UIg uTeld S ST Jiaed 5 S
HETTSTA SRt wesde ] gRdie daeh. |

TENS T4 SN UE_ AR, degl hicell Gea=a IETaEuadl I=quiarar
WO Bl @ U AU T UHe das s, ol @ et smemfEm anfn
IR A9 FUIOTERE dIUTE S Sl GWd 3R, 4 Igeaudin Softa gt
AT el ThE g8 Hell. Jefieal Fisa FAFA gHnd metawETE 9 e
9 AR = TN W giae SR, 3 iy A a et d e At
FESAT G AT AT, A SEEAEHINT IRl Foden uEe e @
U HTGET; A7 ren HEtre=ofl auyy U =1 g WEAME! TE ot SIRRISHT e
A are. wmmammmﬁwmmm
@im%a‘sﬁa
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a1 T A G v P a2
W, Sl e ST To TR S AT i T S ferer,
4. Uvare fafaw s 2R Fe.
#. mzﬂtﬂmﬁmmﬁwwm%ﬁn

3. fo=n 3 swgvaren fhgonadt W s

(1) Wa?emﬁé
(2) wu g g
(3) wF AAME
(4) wF A A F

42, VRGN B oAl GG i qim F wrer ?
a1, ferdrom snfer e @elier RO TR @ TN wa deg .
W AT WROEA Fesdesd! TS Uget gl |
. W el G, TR, R ok, T SN A 3 A,

3.  GEYS IS B Al

(1) e Fanfor g
(2) ad & M0 F
(3) $uad & AN g

(4) had 37 3T F
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43, HEH $ A faem SgeEEEeTea Tel Y T,

4. Reaten Aot weren $ 7 e wree.

%, mmmmmmgﬁwmﬁmmﬁ

3. EEEREITA RO SER A T, |

(1) &5 & 30 & (2) wRIAS

3 w3 d) TWF

44, mwmmg@aﬂHﬁﬁWM?
§.  WEAEEO IEaviigTETE WO ST |

F. QIO GRS U@ e[ T SeHTdie S1cd T SN 9l B 741 Tahy
TEGIUT qHT A A1eeT e

3. TES, AR, TEd T o= aummr=ar v= geat T1d.
(1) waa Aafnr g (2) TEd FAMTE

(3) wEd @M ' (4) Had 9 M7 &

45.  WEHENEREA G QUG 9 SfedigRredn SHfen i oy #1 sie =ns‘i“?.
A, WA ST WO he.
¥ GEETCE S AT e RE §9 AT oA STE-TSEi GuSd WA ol §

FUITETS! IYRFHT she,
F.  HEEH G A gudarg sl TR i Wi e e o ai
3. S ST TR e T e
(1) %o & anfoy & (2) wEAFaMS
(3) R 1 P 6 | (4) A AN

Foey] HETHIS JIT { SPACE FOR ROUGH WORK



A _ 39 : X08

Read the following passage and answer the questions from 46 to 50 :

The town belongihg to the colonized people, or at least the ‘native town’, the
Negro village, the medina, the reservation, is a place of ill fame, peopled by men
of evil repute. Théy are born there, it matters little where or how; they die there,
it mattérs not where, nor how. The ‘native town’ is a hungry town, starved of
bread, of meat, of shoes, of coal, of light. The native town is a crouching village, a
tbwn on its knees, a town wallowing in the mire... The look that the native turns
on the settler’s town is a look of lust, a look of envy... The colonized man is an
envious man. And this the settler knows very well... It is true, for there is no
native who does not dream at least once a day of setting himself up in the settler’s

. place.

This world divided into compartments is inhabited by two different species.
The originality of the colenial context is that economic reality, inequality, and the
immense difference of ways of life never come to mgsk the human realities. When
you examine at close quarters the colonial context, it is evident that what parcels
out the world is to begin with the fact of belonging to or not belonging to a given
race, a given species. In the colonies the economic substructure is also a
superstructure. The cause is the consequence; you are rich because you are white,

you are white because you are rich.

In the colonies, the foreigner coming from another country imposed his rule
by means of guns and machines. In defiance of his successful transplantation, in -
spite of his appropriation, the settler still remains a foreigner. It is neither the act
of owning factories, nor estafes, nor a bank balance which distinguishes the
governing classes. The governing race is first and foremost those who come from |

elsewhere, those who are unlike the origiﬁal inhabitants, “the others”.

Y] BHTRIGE! AT / SPACE FOR ROUGH WORK ' P.T.O.
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46. Why is the ‘native town’ a hungry town ?
| a. It did not have agricultural farms.
b. It did not have markets.
c The blacks were steeped in poverty.
d. They were denied their fundamental rights by the whites.
(1) Onlyaandb (2) Onlycandd
(3) Onlya (4) Onlyd

- 4%7.  Why does the native look at the settler’s town with envy ?

a. It arises from a sense of desperation.

b. He has no other option in his life.

¢. He wants te occupy a position of power.

d. He wants to be the colonizer instead of the colonized.

(1) Only ais correct (2) Only b is correct
(3) aandd are correct (4) ¢ andd are correct

48. What is the settler’s attitude towards the blacks ?

a. The settler is not afraid.

b. The settler considers the blacks to be harmless.

¢.  The settler is contemptuous of the blacks.

d. The settler feels resentment because he knows that his position is never safe.
(1) candd are correct {2) Only ais correct

(3) Onlydiscorrect ' (4) b and c are correct

49,  The statement ‘you are rich because you are white’ means
a. That your gender defines your status in the colony.
b. That your race defines your status in the colony.
c. The place that you come from defines your status in the colony.
d. The language that you speak defines your status in the colony.

(1) aand care correct : (2) candd are correct

(3) Only b is correct (4) Only dis correct
60.  In spite of seizing the land the settler always remains

a. anative b. an ally

c. aforeigner ' d. None of the above

(1) Only d is correct (2) Only cis correct

(3) band c are correct (4) Only ais correct

- ] BIHNTS! SR { SPACE FOR ROUGH WORK
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51. yHRmErem At avarEdl ahETa vata e

SN SA A
AV '

(1) (2) (3) (4)

Select logically appropriate option to replace the question mark.
?
ERVAVAR VAVARRVAX
| ®

oy (2) (3 (4)

<
<

.

S
B
*
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Select the fold of transparent sheet X from the given options.

r&
/N
i,
d
A

N7 | N g
(1) (@
NS Ao O
W \a O\
(3) (4)
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53. feoieh mifeeh 7 “mwey staren 3 @ Yo Il e
x + y fefia wa f x @ y <t ond om.
x — y (e =@ it x 81 y 1 WS I,
x + y Féfm =@ N x d y f wdio o,
x x y TERE *@ #t x & y =t gorft sm.
m+n—oxp=+q
) o s s o
(2) m,n,o,q¥ p T& Imew.
(3) m,n,od panfr q = et e,

(4) m,n,o,p# qf & .

Study the information and relationship given and select the option that shows it.
X + y represents that x is the mother of y. |
X - y represents that x is the brother of y.
X+y represénts that x is the sister of y.
X x y represents that x is the daughter of y.

m+n-o0xp=+(q

(1)  All persons are siblings.

(2) m,n, o, qare the children of p.

(3) m, n, o are the children of p and q.

4) m, n,o, p are the children of q.
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55. W,ﬁmﬁmmmﬁWWﬁ waﬁwﬁmgﬁwm
TR el AR ~

g‘"? 6)%1‘1’#:95H’E)2:Q’V’LsF:Q

E'Fﬂ:'@,7,3,],A,J,8,®,X,4,X,C,+

% : P, $,8,Y,0,N,5D,> =T
i 7 TTHE T BT O W@ (i e RifRa s e om. Fivendt vewrst
TR BR . T e mieddie ol gew geravar geard st e SR
HR, T T WiRhaldl 375 UeH Siehg EiaMel Yoam ! 8. aeea sHa

fo=m mitRrdidl SR oS¢ 9= Tiihgd goEEen AT U] 3R, m‘—ﬁuﬁméaﬁ-
AfAFA R UTH g, a7 ¥ §uav e fEEn.

(1) X Q,8)
(2) (C,Q,5)
3 J,v,0
4 X 8,%)

Suma, Bano and Jack, each have prepared their own English alphabets, digits and
other symhols series as follows : '

Suma: 6,%,1,# 9, HE 2 Q V,LF,J
0:@17,3,[A,J58®X,4,%C,+
Jack : P,$,8,Y,0,N,5D,> =T

They have devised & play of forming groups of three elements with the following
rules. No element will be repeated, Bano is supposed to move alphabets by starting
from the right end of her series, Jack is supposed to move elements of digital
symbols from the left end of his series, and the last person will move other elements
from the right end of her series. They moved their elements according to their senal
order each time. Select the group that ends their play.

1 X 0Q,8)
2 (C,Q,5)
3 J,v,0
4 X8%
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56. HEaAl FHd qrEgFSidl A, B, C, D § E W1 SOTEAHT UM TEATET FehTST TR
g Trada S SuEdET gear w6 TS 9Id ATlaE Bad Thel AT Thed
el A FAW AA T HA. A OHEET FE S a@iediaEy oara el 1 q|edia
RS TS 3R . W suiE o Fon fum Ree o e,

(1)
(2)
(3)
(4)

A B

/

o A e A g e T,

mnammmmmmmj
1 Tt Sz E st @10 sies o,

T A7 WA C TG §E 81 THhat a1 C A9 == 99 A e, maﬁa—@w
aaﬁ@?mm‘é‘?

Study the map of roads that connect cities A, B, C-, D and E as shown in the
accompanying figure. Design the route such that you start from any city of your
choice and walk on each of the seven routes once and only once, not necessarily
returning to the city from which you had started. For a route that satisfy the given
restriction, select the true statement from the given list.

(1)
(2)
(3)
{4

A B

AN

C D~

None of the routes satisfies the given restrictions.
D can be the only intermediate colony in the route.
The route has necessarily to be ended at E.

A route can either start at C or end at C but not both.
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57. UH WoW QS U i 0 fesauarem di At e, TlE aent 9 Gatge At
g AR o e 3. gE 9 sfeamaEn 100 e U WEe . Jfw fogo s @
H AN T S g U 9Ee Al ween e wdiceam |aifus
et anfor faen wgor 700 o1 Freret. wigen st fodlt 7o =T St A 2
(1) 45
(2) 50
3> 75
(4) 100
In a certain game, the players have three chances during each turn to earn points.
Each consecutive win awards more points than the previous win. The second win
awards 100 points more than the first and the third win awards twice as many
points as the second win. Lachhi won the maximum number of points during her
turn and received a total of 700 points. Select the option which indicates the number
of points that are first won.

(1) 45
(2) 50
(3) 75
(4) 100

58. X' 3 Y 2 3 foendi wgiwm wRvgs v Ivawrdt ww] A, § TR W faeg
i 1-5 foft T o SRy ST e I9ERE deen @ 2 ft 9wy ol S, @
AT GUdie 27X foedt ?
(1) 7 fft
(2 6 fh
(3) 8 fermtt
(4) 5 faf
Two students X’ and Y’ started walking from their school to reach their homes. They
walked in directions opposite to each other for 1'5 km and then each one turned to

his right and walked 2 km and reached home. What is the distance between their
homes ?

(1) T7km
(2) 6km
(3) 8km
(4) 5km
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59.  TSciell AT AT TG AT Ieg ATd! ¥El, quiHTdiel Rehnan woft Yol wisg dae See
Fog1 dt ot ol SraiERia AU IWE 9 R O A auR TmErefl Bdie oneft wise

R Frae.

EHER e Tsaen Sftfiat Yafifeten Iopa wo fafay S g grean
A ugd LA CE . & 3. Ao

3. e

(1) wanfurs (2) EleﬂTﬁT? (3) = anfr & (4) - =1 anfor g

Study the situation given with a blank and the list of words. Select the pair of words
such that each of these when used for blank, fit the meaning of the description as a
whole and produce completed descriptions having similar meaning.

The life forms evolved naturally on the land made barren by volcano is
strong evidence that humans, too might be able to inhabit the area in the distant
future.

a. wilting b. nascent c. waning d. incipient

e. stagnant

(1) bandd (2) bande (3) aandc (4) aandd

60. o faum anfor wret smanfa sk ge it amea. Tend fshd svweren v faen.
T BR Jea. $1E C® J Aeq. @& P 7 C 31ieq. |
sy ;
A, FE C7 B IR
3. TR PE I
%. wE B¥ C 3.
(1) e A MM § (2) e 9 AT 6
(3 w& (4) THE

Three statements and conclusions based on these are given below. Select the
appropriate option with valid conclusion/s.

All Bs are Js. Some Cs are Js. All Ps are Cs.
Conclusions : '

a. Some Cs are Bs.

b. NoPisd.

c. Some Bs are Cs.

(1) Onlyaandb (2) Onlybandc
(3) All (4) None
FoeqT HIHTAIST S / SPACE FOR ROUGH WORK . P.T.O.
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61, T aMEl 15 gt 3Mfor 10 Heft 3mga. ?ﬂqgma%ng%ﬁm&r (random)ﬁagmm

T gert anfor g9 qem ar=h fFag goarh e
21 25
(1) i | (2) 117
1 ‘ 3
(3) 50 (4) %

In a class, t}_leré are 15 boys and 10 girls. Three students are to be selected at
random. The probability that 1 girl and 2 boys are selected is

21 25
ok 9y 22
(L 16 (2} 117
1 3
- 4) =
(3) 20 (4) 95

62. I qESAT QAT SUETE! NG W@ TR 3. greA fim gt f sl Se, e
mwﬁﬁmmwmﬁﬁm,wm@am@%mm
T T Ee Siert, e e e
T Neeara grd) e, “qrreateR Tt v IR 27 welehn Jee) IR e,
e T Wit . qe @ie qiewl.
qen : W wedt IR, TR Wi el

T HI0 ITR/MRT ?
(1) e (2) #&A
(38) B (4) 1 3o greet argl

You wanted to employ a hardworking gardener for your second home. Your friend
gave names of the persons; Jeda, Muta and Haka and informed you that one always
tells the truth, another tells the truth alternately and the third always lies.

After meeting them you asked, “Who among you is a gardener ?” Each one answered
as follows :
~ Jeda :Iam the gardener. Muta is a liar.
Muta : I am the gardener. Haka is a liar.
Haka : Muta is the gardener. Jeda is a liar.
Who is/are the gardener(s) ?

{1) Jeda (2) Muta -
(3) Haka (4) Both Jeda and Haka
FeegT HIETATST AN / SPACE FOR ROUGH WORK
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69, e shedardir Sz R e s Ry e s
mﬁa@mw,mwmmammmmmmm
TR T AHOR YO Fe A ST, o RS @ WaRehS e
Wmﬁm@_mmﬁmm.mmmﬂaﬂ‘
TR det IRa AR T @ FEAEE B 19,310 Rl siatet sreeen SEem v sl
TN e SR Y S < e R qedten v ok = A g W k.
(1) SRR aRfm %, |
(2) FOT AT T3S 29,

e @ W wr=ar wREETen TEE e

et @ i A=A gewey fufia woaen wea o

Select the odd option with respect to the role of the last sentence in the following
paragraph : |
Pluto’s moon Charon may be significantly reducing the loss of atmosphere of the icy
planet by creating a shield and redirecting much of the solar wind away. Pluto’s
relationship with Charon is one of the more ﬁnusual interactions in the solar system
~ due to the moon’s size and prbximity. This moon is more than half of Pluto’s
diameter and orbits only 19,3 10 kilometres away. You know that our moon. is three .

times closer to the Earth and as large as Mars.

(1) Make unfamiliar familiar.

(2) Supports the claim made.

(3) Put into perspeqtive Pluto’s relationship with Charon.

(4) Help to picturize Pluto’s relationship with Charon.
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64. T X3 YH 3m ahm et amin 3 A s w g R o, v ghe
IS foramra B AR YeUR & gfrarg FaeT, |
X, faeiarl g1 R 1508 wret Fo) W wdRrear e Wi Ywne st &

Y. SHaf 2017 9e guueRE ARt 8 AaEdl e 99 7997 H999 HO SER
Fel IR,
57%?73:

a. @ afdw g fawma e e G Ffie, SR SRAT 16 S IHEE A
aﬁaﬂmﬁ%aﬁﬁaﬁ%mmw%&

4. ?ﬁmﬁﬁtﬂwﬁmmﬁmﬁ?ﬁa w%m5¥m@?—ﬁmmﬁmﬁmﬁa
Sriarsire siftacarh afddt sgd doitvei 6 Ta1 Jage FEe™ SR F AN,

F.  GYEHH quEiiena e R @ T TR T 7991 Segd FEearE ey
C odl Al sEeed IAEeE! e d werg S,

(1) o A 2) sAfFra

(3) & I Td 4) wd

Given below are two statements X and Y, and a.f‘guments related to these follow.
Consider each of the arguments separately and select all that apply.

X. Drawings made by Leonardo da Vinci in 1508 of the internal parts of the
human body shows mesentery as an organ.

Y. In January 2017, mesentery is declared as the new 79*! organ of the human
body by researchers by studying it in detail.

Arguments :

a. They can be considered as logically inconsistent since people were aware of
- presence of mesentery in 16 century and Vinci’s drawing gives evidence of it.

b. They can be considered as contradictory because though researchers declared
" mesentery as a new organ people knew its presence in the human body for at
least 5 centuries.

c. They are complementary as researchers gave recognition to already known

mesentery by calling it the 79t® organ of the human bedy after studying it in
~ detail.
(1) Onlya (2) Eitheraorb

(3) All exceptc 4) Al
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3. .

srea faliuma a1 o FWoaEd HR B TREEd <O wald I 3@,

(1) o afg gewHr 7 aftss fogT auH 3w 2

(2) HUHd FM FOIEE R geiid GEMe IR 3eY 1 e

(3) wHmTET qn 3R S wrteRie Je T ferfea fori e Fm wvEs
JTed ATE. :

(4) RIS IGH=AT Jord F1H TRRROCA] Halal Tl St g,

' The committee on sexual discrimination in the workplace has highlighted a certain
company as a chief offender. Of the twenty-five senior executives in the firm, only
two are women. And of the fifty-eight junior executives, only ten are female.

The company could best defend itself against the charges by showing that

(1) they pay the same salary to senior men and senior women
(2) ten times more men than women apply for jobs with the company

(3) the work pressure and long hours make jobs with the company unattractive to
married women

(4) all job applicants who were rejected had fewer qualifications than those
accepted

66. ﬁmmﬁﬁwwmﬁmmmmmsﬁmm

[ECE |

o S AEdEe @ JoisiE wE el om.

o TTEW MM IEadea §d ofewdt fafE A anda, e wdht ww b=
I AR, .

o WTEHN ATEHIE 4TS U qTecdT R Snfaraidl ST 0T AFETEat TE.

e 1w FigEER Aaeielt T wagw w4, G Idf, e o fwin Fond w4, S
Ift, Jorarg TeTE I, FeEET @a AR A, A IR, ITEH NAGH, FA TUEE
e I, T oE T FfY ugh SteERE A9 anRa, g TEedt Yaed g9
aré.

fﬁﬂfq:

A T FiiugdE TR w4 gEq oW IORA OIS AT GEW  HOATEIS
Sferm, dgTe, wY T T Y AR G e, waad e q e
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(1)
(2)
(3)

(4)

54 A

IaHd, WA T T AEH I YePHH 9 GEUPTH TUETIYU ScaeA Uk fhma
firwaren g famw & wifes oYl Fmemed e ga, 99, AT I |, fafw
YA e varand) =R wewTht fissed SUaradl, ST TN SETET IITEAT
e FaN A9 fieft wiis, o e § wa:Et W |y weedid.

FHE FEFaTE AT A AT A AR, et G AES 91 i B .

G % & taRd e AERE d gate Yoar AR,

B W I 9 FEGTE TEREE WM 1 SUat Feard It 7 e s anfiw
HORTR B54.

T A FREH wEd 9 @ SEAE @, T Ideiet 6 SFeuEEd T
T,

Given here is a set of facts and courses of action are suggested after these. Choose
the most appropriate option related to these.

[ ]

A suicide by farmers has become daily routine.
All related predictions are getting weird due to changing climatic conditions.

Consumer biased media are in the forefront in creating hype over increasing
prices. ,

New practices like remote sensing agriculture based on accurate analysis,
nutri agriculture, safe food producing agriculture, wireless agriculture, climate
smart agriculture, variable fertilizer application agriculture, knowledge
facilities like wind mapping, yield mapping, water quality mapping, etc. are in
vogue but farmers are not aware about these.

Courses of actions :

a..

(D

(2)
3

4)

Government, voluntary organizations and agricultural universities should
work in collaboration for preparing a squad of intelligent, technically skilled,
hardworking and honest agricultural assistants for empowering farmers to use
new agricultural ways of producing safe food.

Quality produce should be distributed in order to gain appropriate price with
the initiative and collaboration of farmers, self-help groups and consumers and
at the same time government should plan policies for maintaining quality of
sources of air, water, soil, various ecosystems and prevent their deterioration.
Government should assist political parties capaciously which are toiling for
giving relief to farmers by waiving off their loans and giving them relief.

All the three, farmers, farming and consumers will be benefitted only if all
three courses of actions are implemented.

Only ¢ can be implemented urgently and is beneficial for all.

Courses of actions only a and b being complementary with each other, if
implemented together, farming and in turn economy will prosper.

Other occupations will prosper along with farming only by implementing a and
preventing implementation of b.
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67. i 43 foeneaRd 13 Jorfi wfaw afhr g @ = T Revamrd 9@ Figaet
anga. 21 farmret+h IS WA A Figael dRa. W ata T Agaden Rraeath AtH
o o wTw vl e Aicad e | Wiy W v, o efieardt

ardt a1 Rereat @@ estavmn Tt fas.
(1) 35 (2) 22
(3) 28 - (4) 32

In a class of 43 students, 13 enrolled for both Spanish and Portuguese. 21 enrolled
for Portuguese. If the students of the class enrolled for at least one of the two
subjects, then select the option that indicates the number of students who enrolled
only for Spanish and not Portuguese.

(1) 35 (2) 22

(3) 28 4) 32

8. et s siafife o aderdt v < siefife o dew agard o
FETET AN AL AgBT=AT ATFST Niw TesT=a FTRST JaAA TR Zfaum waig

fra=.

/N

N
1 2 @ 2
(3) 2n | 4) n/2

Study the accompanying figure, with a circle inscribed in a square, that is inscribed
in a larger circle and select the option which indicates the ratio of larger circle to

that of the smaller circle.
W 2 | @ 2
3) 2n @ 2

Freey HHTETST ST / SPACE FOR ROUGH WORK o . P.T.O.



X08 56 A

69. g\ Ig@IA 12:580 T 16,000, 3 aur=m JedH Rifedian 9o sufavamard awar =M
: FIS Udd. T Fo W WS WA U A, T el TR NI fhdl W I8l

ITFar ?
(1) ¥ 78125 (2) T 71850
(3) T 67825 (4) T 68725

In order to buy a lift pump for his well, Sunil borrowed ¥ 16,000 for 3 years at the
rate of compound intrest of 12-5 p.c.p.a. What would have been the difference in the
interest on this principal had he borrowed it at simple interest ?

(1) ¥ 78125 (2) TT1850
3 T67825 (4) ¥ 68725

70. Tt wiitdem davi s vl e,

A, BT C ¥ 97 TH TUIER ARG Y07 UHT 4 AEd. AT B A1 arTehia 7 40 feft am
anfer A | C 91 JuTidie 3at 110 [t s,

st X = B9 C &1 quridied 3w

wft Y = 60 forft

(1) X & ueft md ome.

(2) Y& it o o,

(3) T ueht TEH AR

(4) T arfairem smym Tfidier Tgd=y ffRa wtar Jom A,

Select the appropriate option with respect to the given information.

Parks A, B and C lie in a plane but do not lie on a straight line. The distance
between Parks A and B is 40 km, and the distance between Parks A and C is
110 km.

Quantity X = Distance between Parks B and C
Quantity Y = 60 km

(1) Quantity X is greater.

(2) Quantity Y'is greater.

(3) The two quantities are equal.

{4) The relationship cannot be determined from the information given.

FoeT FHTS! ST / SPACE FOR ROUGH WORK
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71, U HAWEA A ST B A1 @9 g WHer 7 : 5 91 WEOTE MR, wew o 9 foew fagor

g Uael 3T B geuma @ & qoivl e @t A Inftr B R THIOT 7 1 9 WA, R o HANed

geardten A ¥ graw fordft s 2
(1) 10 ferex (2) 20 R
(3) 21 fax (4) 25 fdet

A can contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 litres of
the mixture is drawn off and the can is filled with B, the ratic of A and B becomes
7 : 9. How many litres of liquid A was contained by the can initially ?

(1) 10 litres (2) 20 litres
(3) 21 litres (4) 25 litres

72. HE W2 HEANICN UHA qroaid. M AR 2, 4, 6, 8, 10 M 12 ¥HTH I,

30 faffeme @ fordt 9e1 T T ?
(1 4 : (2) 10
3) 15 : 4) 16

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12
seconds respectively. In 30 minutes, how many times do they toll together ?

(1 4 : (2) 10
(3 15 4) 16

73.  vvAraeETe WRT I @ Fae

V5555449 = ?
(1) 2357 (2) 3257
C(3) 2257 (4) 2457

Replace the question mark choosing the correct alternative.

5555449 =7
1) 23-57 (2) 3257
(3) 2257 (4) 24-57
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74. R Sl s v fae.
swP_5 w3p+t2a _,
-q 4 3p-2q
32
1 -
(1) -
15
2 it
(2) 3
23
3 -
(3) 7
8
4 —_
(4) T
Replace the question mark choosing the correct alternative.
¥P_% thep 3P*24 _s
4’ 3p - 2q
32
1 2<
(1) -
15
2 -
(2) 3
23
3 -
(3) 7
8
4 —_
4) 15
76. SR Tl Wk g 3 7 W FEciel @ @ o geae faudiven 2 4 AU srmem=n

EIEAH WA, T AT T TN 5 7 TEF AE e .
1y o '

@ -5
3 -30
@ 20

If 3 less than twice a certain number is equal to 2 more than 3 times the number,
then select the option that is 5 less than 5 times the number.

(1 0
@ -5
3 -30
4 20

YT FITAIST ST / SPACE FOR ROUGH WORK
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Decision-making and Problem Solving questions no. 76 to 80.

76.

e FE ania g A TS ATE, Tl quSaTRS SAINgeneg YIgUea Wguu

q T F0E FETE TEF ATOETE T sgeRiteT Th T qHSAThS ST IR, TAESE

T T g T AR M1 Heedn [UeAEE e SHugyuE aaen g

AR I G e R, qeE,

(1) o Tl $Fa fea|n s Fware  areEoars WErn awe T ge=n Teren autdia
Tl A I WE FoAh I @ e W depdta TR e dvar
T |

(2) T TN SHINGHUTSAT AT HESE SAEE USd QUK 9 e 38 FHEvETeA]

TS diem FHRUEES wEeT At st fadt wamen Jeeer smmadw
Hee-eT HUE.
(3) ¥ @, mwmmmwmﬁmmm
_mﬁmmmn‘rﬂuwﬁaw

(4) QA TS AT ASH A HEA TN FEp! W0 F SAIGEUITSn Wiy @ S
v feauamg |,

You were an avid dhol player as a teenager. You did not play it for few years till now
as you were busy with acquiring professional skills. At present, you are in charge of
solving the city’s pollution problems including noise pollution. A group of young
persons approached you to permit them to practice and play dhol for a festival to be
celebrated during next month and earn some money. Similarly, another group of
young persons already approached you with the problem of noise pollution in the city
with scientifically collected evidence. You will,

. (1) permit the dhol group to practice and play for few hours during the day only

~and request the other group to bear with the noise pollution for few months of
the year and allow the group to propagate the age old culture.

(2) request some responsible NGO to organise a workshop for all dhol groups for
helping them to understand the problem of noise pollution and assist them in
solving their problems related to earning money. _

(3) organise a campaign for making people aware of the problems of noise pollution
by working in collaboration with health department, police department and
NGOs.

(4) organise a meeting with leaders of both the groups and request them to settle
the problem of preserving culture and prevention of noise pollution.

TEET FHTHTS AT / SPACE FOR ROUGH WORK P.T.O.
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77. T TR MW HRAE {91 0T SIS VG eI, U HHAIAThG qUASS e
TR e T W R T 9 g9 gaa R i AR i Raw @ gy smen o
e fafd ok, g2 = fafet e i 3 wRwige e avg dan g weeel T ©
o At AnfEa i o gR R @ RO I TG W A A6, 1@ R0
I7 ERI FE e AR } TR ATEG AR, M W@ OIS g,

(1) v Fafre %9 e Ria SNREET dEid v ivgd @ aaeE Biedd
(2) TOT AOWEN d @R O R mfeh T wrmed s @
TGS T d3% FEaa .

(8) I g MHER 7 gvarE wuren B w09 9 3@ Team 31 evea S8 geva
TS STYETE e,

(4) TERE TR I THRT T IIAEHE F iR IASet 9HE feavarE 9.

You are the head of the hospital that provides services to one of the government
organisation. You have received a written complaint from one of the employees
stating that he is having a terrible pain in the throat and he did not eat solid food for
the last three days. He further stated that he is not given proper treatment for two
reasons; one is that he is from a reserved group and secondly he is not working on
the higher designation. As a head you know that there is some truth in this
complaint. For sorting out the things you will,

(1) diagnose the patient and direct him to the concerned specialist for further

treatment and supervise this treatment till he is satisfied.

(2) call up the meeting of your colleagues and subordinates and discuss the

seriousness of the illness of this patient and charges made by him.

(3) request the patient not to take this matter seriously and assure him that you

will look into this problem as soon as time permits.

(4) ask the concerned doctor to look into the complaint and request him or her to

sort out the matter at a personal level.
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78, wreliwid g AEEh T daRg @ T = wigg ot st hEw TR v
WEHHH AIERA (W GEE el . Wi F, Tawigs Feand I s
TirezavaraTd) Gy o1 G 4G AT FE qrETel U foarsd saet weum Agde aed A
forart & WA SR ST SR FE A0 A AN A S FOAEE A1 wa
(1) mmwﬁmﬁmﬁ,wwmmw.

(2) Wwwmmwﬁmmﬁmmﬁwm@
feft maT st

(3) mmmmaﬁ%yaﬁwmmﬁwmm
A ST ST AT T S ST e 9 TR Hiawie T2 T
HT. |

(4) oHTEE qeieAl Wad AT A WY HATH S FUE.,

Recently you have started voluntarily assisting people to give up their tobacco and
alcohol addiction and lead a healthy life. As a lay person you always thought that
the people get addicted with tobacco or alcohol because of friends, relatives, out of
-curiosity and enjojment but recently you came to know that most of the people
employed as sanitation workers take to these habits to manage stress and ailments

as the unbearable smell, loathsome thoughts due to handling of dirt, and
experiencing feeling of discomfort all the time. This made you to rethlnk about their
plight by putting yourselfin their shoes. You will,

(1) not try to convince these people to give up their addictions hereafter.

(2) collect funds needed to make their life better by providing them necessary tools
that they are not getting at present.

(3) form an active group of persons and organisations who are genuinely interested
in making life better for these persons by conducting research on disposal

and recycling of all sorts of dirt.

(4) make arrangements for counselling these people with the help of profe_ssional

experts.
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T AWHA TR T T TR, TR Ued A e e o=

I aeT Wl vt AR, AT A IeATE IR, R TFIN FAAT_HISAM, N AT

I9H AT I, T TN HIEAET IR FEA ATEEART O Al

Wﬂﬁﬁ@ﬂ%ﬁ%@@mwmwmwﬂﬁ

Tl W " Sfted TRUG Oeeed®, 1 IvA_Aiiae i wementta ggada

swear, i fafay suenifag 9 sl Teis FEEE A ST A Tt

R AHOA 54 TEEE AT i e Sad I sHavarETe! JeRhR SRl Hed

TS oTavEE S ¥R 3 faerdt T W AT aWE TR, g,

(1) ¢ odm Fd 7l Rt afr deE sFREYE MW @@ wuEe S
TG TG 9 = At g fafay wrma S stelin wm wed @R e
T JATHHT THIT ST §Ad 1 ARade W Al T Agd TTe.

(2) ucrey Fifidie SR digr U SOEA, AT WS FEUIE FE AT FH FE W

(3) TmfioT WRT T ST § S BT N e faeadl A e s soamd!
[HH FOITE THATCHF H HUIET AN STHUTN FUSTIUSE AT SqFAardt Sasraiat
amuria wfiieror emnfeE wUa. _

(4) TV GERARAT Al SFUAAT IFY HedHa 963 HIAFUATIET AR Hatd o7sht
TS FH WG, TE GESAT AT GERTAAT HEd WA JeREl soarErd

You are heading a government mission that aims at making innovations work and
providing better government services for people in rural areas. Many young
management school students are recruited to assist you. These persons are
enthusiastic, come up with brilliant ideas, are techno savvy, give amazing
presentations ugsing their eloquence and communication skills, and are highly
asgertive. At the same time majority of them being city dwellers for all their life, are
from affluent middle-class families, and are little aware of the plight of people living
with various kinds of scarcities and their marginalization due to social dogmas. They
lack patience and perséverance required for experiencing and understanding ground
level realities of the life of the majority people in rural areas and helping them to
take initiatives in making their life better. You will,

(1) make them realise that this mission is not for selling anything and make
people addicted to buy unnecessary commodities and they need to work with
people in different parts of rural areas and understand their life and
aspirations. :

(2) let them work with their ideas for some weeks using very little portion of funds
available and give them a chance to improvise their ideas or come up with
realistic and down to earth ideas.

(3) arrange fieldwork based training for these persons with organisations that are
experienced in doing constructive work in rural areas for empowering people to
work together for development of the society that they belong to.

(4) instead of wasting time on the hi-fi ideas of better life of young recruits you ask
them work on some peripheral targets, and you go ahead with your experienced
colleagues for making the mission successful.
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g0. Tafay veuwdie T @ FRET TR wvaTEl JEEeR! SHee e gel
UF HEH AR, HRBHAT d HWT=Al dBNHHE] @ hd FEAH, HE geemH aid
T FE0e §d weead), @ ey 300 feh st seed yRig dEeN W

(D 31 Yot Fome st aueh qravars foed € g o= aewr .

(2) #ﬁ%waﬁwmﬁwﬁﬁ%ﬁawﬁsﬁ@%mﬁﬁmmﬁ
& e nft graTen —ma W@ FEeETR WL

(3) FRVSIEN 7 F g fadspr=a faum wweam s gyeara |fet We it
FHOATE] o1 TG A,

(4) ST AfEd! FaF PG T FEAST HRFATCYI A AiEda @ FFeI= O &=
areft mrTeft 3 vl foAdt wUa.

You are a member of a team of experts that is responsible for conducting the
workshops for heads of the institutions in different States. While designing the
programme and work schedule it was suggested by some of the members that the
team should request the host office for arranging a visit of all team members to the

famous temple that is 300 km away from the place. You will,

(1) request the members giving this suggestion to contact the person of the host
office for arranging this visit.

(2) request the members who are interested in visiting the temple to work out this
plan by contacting the person from the host office and telling them that you are
not joining them.

(3) suggest to the members to arrange the temple visit after completing the
workshop and not during the workshop period as it is against ethics.

(4) tell the members that some RTI workers are interested in knowing this
workshop programme and request them not to ask for arranging the temple
visit. -
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HAAT — (o171 2.....) - ,

(8) ywyfereey fafda Foe fafie anfle &= wm (16 %) TR, TgirERefafE Iawheat an @
FOTTET T HTH HegTE o H HOIFAT LA Hed 312, 3R A WA § THEN IHEIRE MEAR
I Feiewr ““rlgmed gors R Yy waeEas sifufar-g27 e TEeqER e
FoE Ad T A TR Fd T ast=a Harare) A/ R T ue gem EhEe e s
A B

(9) TR FWEHEE e fafem okl 98 HueuHe IueEnen € yeyfRe W atet sdasaman
U3 AW TEET AR, WA GHNTEHTERR Wvagdl SHEaNA sieer IWUtedT WT-1

AR NHTES 7 faraTar o w0 snavaE AT
ST Wea
T, %. 201, EdN 9T T FRAEE HIvil qed: T Fo ?
(1) T gaHg aEad) (2 Ry feEmaTR
(3) T UHAETET T4 (4) TTEHST TG

W A I Q) TN UHEE U 3 TR, oIS AT W W C(3)) we,
TRd TR0 5 3. 201 @R I-spAs (3) R age [0 SEifhd e
TrEfev) T AR,

w21 O @ @ ®

e TgAR TR TR YoE W] qE S B e e [
IAUERRAlE o o TSHRAIREERE defid 9ges i S %4 grgaEl. gt
e T ITEE ey arad, 9fAe =1 g 99 Ao .
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